
SAP ABAP table RICASP {IM Summarization: Drilldown structure}

RICASP

H_INV_PROG [CHAR (8)]

COMPR_VRSN [CHAR (3)]

INV_PROG [CHAR (8)]

LOGSYSTEM [CHAR (10)]

VERSION [CHAR (3)]

BUDGT_CAT [CHAR (10)]

CONGR [CHAR (18)]

COMPANY [CHAR (6)]

BUS_AREA [CHAR (4)]

CO_AREA [CHAR (4)]

PROFIT_CTR [CHAR (10)]

COSTCENTER [CHAR (10)]

FUNC_AREA [CHAR (16)]

DIVISION [CHAR (2)]

PLANT [CHAR (4)]

RESP_COSTCENTER [CHAR (10)]

INV_CNTRY [CHAR (3)]

INV_REASON [CHAR (2)]

ENVIR_INV [CHAR (5)]

PRIORITY [CHAR (1)]

SCALE [CHAR (2)]

IM_UFLD02 [CHAR (10)]

IM_UFLD03 [CHAR (10)]

IMCECC

CLIENT [CLNT (3)]

CO_AREA [CHAR (4)]

COSTCENTER [CHAR (10)]

 RICASP-COSTCENTER = IMCECC-COSTCENTER 

0..N

{0,1}

 RICASP-RESP_COSTCENTER = IMCECC-COSTCENTER 0..N

{0,1}

IMCEP

CLIENT [CLNT (3)]

LOGSYSTEM [CHAR (10)]

PLANT [CHAR (4)]

 RICASP-PLANT = IMCEP-PLANT 

0..N

{0,1}

IMCEPC

CLIENT [CLNT (3)]

CO_AREA [CHAR (4)]

PROFIT_CTR [CHAR (10)]

 RICASP-PROFIT_CTR = IMCEPC-PROFIT_CTR 

0..N

{0,1}

IMTP

MANDT [CLNT (3)]

PRNAM [CHAR (8)]

GJAHR [NUMC (4)]

 RICASP-H_INV_PROG = IMTP-PRNAM 

0..N

{0,1}

 RICASP-INV_PROG = IMTP-PRNAM 0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 RICASP-INV_CNTRY = T005-LAND1 
0..N

{0,1}

T087I

MANDT [CLNT (3)]

IZWEK [CHAR (2)]

 RICASP-INV_REASON = T087I-IZWEK 
0..N

{0,1}

T087K

MANDT [CLNT (3)]

UMWKZ [CHAR (5)]
 RICASP-ENVIR_INV = T087K-UMWKZ 0..N

{0,1}

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]
 RICASP-COMPANY = T880-RCOMP 0..N

{0,1}
TAIC2

MANDT [CLNT (3)]

COMPR_VRSN [CHAR (3)]

 RICASP-COMPR_VRSN = TAIC2-COMPR_VRSN 
0..N1

TAIF5

MANDT [CLNT (3)]

SIZECL [CHAR (2)]

 RICASP-SCALE = TAIF5-SIZECL 

0..N

{0,1}

TAIF9

MANDT [CLNT (3)]

USRNR [CHAR (1)]

USR02 [CHAR (10)]

 RICASP-IM_UFLD02 = TAIF9-USR02 

0..N

{0,1}

 RICASP-IM_UFLD03 = TAIF9-USR02 

0..N

{0,1}

TBDLS

LOGSYS [CHAR (10)]

 RICASP-LOGSYSTEM = TBDLS-LOGSYS 

0..N

1

TCN07

MANDT [CLNT (3)]

NPRIO [CHAR (1)]

 RICASP-PRIORITY = TCN07-NPRIO 

0..N

0..N

TF180

MANDT [CLNT (3)]

DIMEN [CHAR (2)]

CONGR [CHAR (18)]

 RICASP-CONGR = TF180-CONGR 

0..N

{0,1}

TFKB

MANDT [CLNT (3)]

FKBER [CHAR (16)]

 RICASP-FUNC_AREA = TFKB-FKBER 

0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 RICASP-BUS_AREA = TGSB-GSBER 

0..N

{0,1}

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 RICASP-CO_AREA = TKA01-KOKRS 

0..N

1

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 RICASP-DIVISION = TSPA-SPART 

0..N

{0,1}


